Grade 6 Test Revision – Set 2






Using a centimeter ruler solve the following problems

28. What is the distance from Burkesville to Jonestown?

A. 210 kilometers

B. 10.5 kilometers

C. 21 kilometers

D. 105 kilometers

29. Which gives the best estimate of the area represented by the map?

A. 105 square kilometers

B. 42000 square kilometers

C. 29 square kilometers

D. 430 square kilometers

30. In which of the figures are two angles greater than right angles?

A.





B.

C.





D.




31. Juan buys 9 fish @$1.20 each for his aquarium at home and 3 plants @ $0.78 for the aquarium. Which of the following expressions will tell you the cost of his purchase?

A. (9 ( $0.78) + (3 ( $1.20)

B. 9 ( ($1.20 + 3) ( $0.78

C. (9 ( $1.20) + (3 ( $0.78)

D. (9 + $1.20) ( (3 + $0.78)

32. Rochelle buys a 25 pound bag of apples for $32.25. What operation would she use to find the price per pound?

A. Multiplication

B. Subtraction

C. Division

D. Addition

33. Peter is inventing a code for the numbers between 0 and 9. He comes up with the following.

	0
	#

	1
	(((

	2
	((

	3
	(

	4
	(((

	5
	((

	6
	(

	7
	(((

	8
	((

	9
	(


Which of the following is true for Peter’s code for these numbers?

A. Odd numbers all have the same number of symbols

B. The multiples of 3 are all represented by the same number of symbols

C. Prime numbers all have the same number of symbols

D. Factors of 8 all have the same number of symbols

34. Evelyn wishes to divide Loto winnings of $196.45 between 10 friends who shared her ticket. Which number sentence is true for this calculation?

A. The answer is greater than $20

B. The answer is between $18 and $20

C. The answer is between $15 and $17

D. The answer is less than $10







Burkesville





Jonestown





Scale


1 centimeters = 20 kilometers
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